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alphal3_4eX1X:cyclenum {run == 8553}
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delta46_12X4eY:cyclenum {run == 8553}
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alpha46_4eY4aY:cyclenum {run == 8553}
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cyclenum

run:cyclenum {run == 8553}
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cyclenum
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deltal3_12X4eX:cyclenum {run == 8553}
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segment:cyclenum {run == 8553}
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usl_1X:cyclenum {run == 8553}
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usl_4eY:cyclenum {run == 8553}
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cyclenum

usl_4aY:cyclenum {run == 8553}
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cyclenum

usl_12X:cyclenum {run == 8553}
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cyclenum

usl_4eX:cyclenum {run == 8553}
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cyclenum

run:cyclenum {run == 8553}
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usr_1X:cyclenum {run == 8553}
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cyclenum

usr_4eY:cyclenum {run == 8553}
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cyclenum
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usr_4aY:cyclenum {run == 8553}
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cyclenum

usr_12X:cyclenum {run == 8553}
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cyclenum

usr_4eX:cyclenum {run == 8553}
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run:cyclenum {run == 8553}
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usl_coill:cyclenum {run == 8553}
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usl_caoil6:cyclenum {run == 8553}
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usl_coil3:cyclenum {run == 8553}
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usl_coil7:cyclenum {run == 8553}
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usl_coil4:cyclenum {run == 8553}
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cyclenum

run:cyclenum {run == 8553}
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cyclenum



usr_coill:cyclenum {run == 8553} usr_coil3:cyclenum {run == 8553} usr_coil4:cyclenum {run == 8553}
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119381934.519351935.519361936.519371937.51938 119321934.519351935.519361936.519371937.51938 1193111934.519351935.519351935.519311937.51%%
cyclenum cyclenum cyclenum

usr_coil6:cyclenum {run == 8553} usr_coil7:cyclenum {run == 8553} run:cyclenum {run == 8553}

0 40000 8555 - - -
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1X_coill:cyclenum {run == 8553}
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cyclenum

4eX_coill:cyclenum {run == 8553}
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cyclenum
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1X_coil3:cyclenum {run == 8553}
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cyclenum

4eX_coil3:cyclenum {run == 8553}
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cyclenum
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1X_coil7:cyclenum {run == 8553}
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4eX_coil7:cyclenum {run == 8553}
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yclenum {run == 8553}
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yclenum {run == 8553}
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yclenum {run == 8553}
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12X_coil6:cyclenum {run == 8553}
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12X_coil7:cyclenum {run == 8553}
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